
CSA March 23rd to 28th 

 

Practical 5: 

 Write a program to implement the following binary operations: 

a. Addition 

b. Subtraction using 2’s complement 

 

import sys 

def binAdd(s1, s2): 

    if not s1 or not s2: 

        return '' 

    maxlen = max(len(s1), len(s2)) 

    s1 = s1.zfill(maxlen) 

    s2 = s2.zfill(maxlen) 

    result  = '' 

    carry   = 0 

    i = maxlen - 1 

    while(i >= 0): 

        s = int(s1[i]) + int(s2[i]) 

        if s == 2: #1+1 

            if carry == 0: 

                carry = 1 

                result = "%s%s" % (result, '0') 

            else: 

                result = "%s%s" % (result, '1') 



        elif s == 1: # 1+0 

            if carry == 1: 

                result = "%s%s" % (result, '0') 

            else: 

                result = "%s%s" % (result, '1') 

        else: # 0+0 

            if carry == 1: 

                result = "%s%s" % (result, '1') 

                carry = 0    

            else: 

                result = "%s%s" % (result, '0')  

        i = i - 1; 

    if carry>0: 

        result = "%s%s" % (result, '1') 

    return result[::-1] 

def Complement(binarySequence): 

    convertedSequence = [0] * len(binarySequence) 

    carryBit = 1 

    for i in range(0, len(binarySequence)): 

        if binarySequence[i] == '0': 

            convertedSequence[i] = 1 

        else: 

            convertedSequence[i] = 0 

    if convertedSequence[-1] == 0:  

            convertedSequence[-1] = 1 



            return(''.join(str(x) for x in convertedSequence)) 

    else: 

        for bit in range(0, len(binarySequence)): 

            if carryBit == 0: 

                break 

            index = len(binarySequence) - bit - 1 

            if convertedSequence[index] == 1: 

                convertedSequence[index] = 0 

                carryBit = 1 

            else: 

                convertedSequence[index] = 1 

                carryBit = 0 

        return(''.join(str(x) for x in convertedSequence)) 

while True: 

    s1=input("Enter first binary number : ") 

    s2=input("Enter second binary number : ") 

    s3=binAdd(s1,s2) 

    print(s3) 

    binarySequence=s2 

    s2=Complement(binarySequence) 

    s4=binAdd(s1,s2) 

    if len(s4)>len(s2): 

        s4=s4[1:] 

    if s4[0]=='0': 

        print(s4) 



    else: 

        print("-" + Complement(s4)) 

    while True: 

        ans=input("Would you like to continue : (Y/N) ") 

        if ans=="Y": 

            break 

        elif ans=="N": 

            sys.exit() 

        else: 

            print("\nNot Valid Choice Try again !!!") 

     

CSA 5.6 

https://www.youtube.com/watch?v=pqg8rgYC9Lw 

CSA 5.7 

https://www.youtube.com/watch?v=k2Z7EsUe7o0 

CSA 5.8 

https://www.youtube.com/watch?v=k2Z7EsUe7o0&t=75s 

https://www.youtube.com/watch?v=aZL4DsnLg_E 
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